“rpb/GeVY
S

thar

Pr

©10™

107°

1077

Ratio to ATLAS

0.5

T [ T | T I T I T I I | I I I I T | T I I I I T | ﬂ
top o
= P, (ATLAS semileptonic ttbar) EE
- =
— m ATLAS _CR:
- —A— Pythia 6.428 370 s
[ --&-- Pythia 6.428 371 g
- - ¥-- Pythia 6.428 372 ™
—® .. Pythia 6.428 376 49
C  m 342
— =iy
— =1
B <
(40
B mts
B 1O
™
B [
=
3
= .8
— e
- —°
B — <
B —Ho
Q
B — 0
©
o
— — o
= | | | | | | | | T | | | = €
- 1 | 1 1 1 1 [ 1 1 1 1 [ 1 1 1 1 |:
- 2
1
[ g e 1
e ;& 0.5
A X ko | | | .
500 1000 1500 2000

pt" [GeV], p>*"}in [0,40] [GeV]



	Contents
	Page 1


